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QR.C. 045

DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)
Name of the Departmental Test for Supervisors of Industrial
Test: Co-operative in the Industries Department - 063
Business Administration including Cost
Accounting  {Without Books)
Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QaTeT@M cuems exleutrs SmelT

Read the following instructions carefully before beginning to answer the
questions.

&S Er&EE@ el WeNéEsd QAFTLRIGL (P SDEGEIL e sTHmS
SEUATLONSL Ly S5SH6LD.

1.

This computer based Test contains 100 number of questions in objective
Type.

fissé saafl aufls GCaaumang), 100 QAaMaTGM susnsulleomss ellsunbaamensd
Cl&IT6HuTL G).

. Answer all questions. Each question carries one mark

MGG eHNTEHEERSGL oL weldsabd speuCleur eoflemeyd
WHUQUET 2 emL WG

In case of doubt, English version is the Final.

efarésefiey #HCHHD QOO gnuber sugeled QaTHSHUUL Heter
eflers&Gen QmSiLiTens).

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qng alemssaficy @Lb QubDmisTaT gyen LTSS SHeudledr QUTTHMSHafsd
Coemeutiligstt, SLOISCHHU  Cuaw  uTSlegSauflslt  ouNiHamsaHEnLd
SILRIGLD.

Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

ellegmewsrlIL@ s  Hewhesll eulfly Ceialinm® ol welssd CQFHMLRIGLD
et samllelullenr  Sleoguilcd  CameiimId  SIHYHPSHEMET  FHEUGILONSLI
ULy S&HeuLD.

a) One question will be displayed on the screen at a time.

@Cy CrrsHed @ allerm WL HGWL saeafls Hangullesd CHTETMILD.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



3.

Management is a -
Cuenamens eTerLig)

(A)

©

activity.

Individual ‘/q)
sefwumer

Employer (D)
Ll WIS &) 16T

[HL_GUlq &N,

Group
&(PLIOTE
Employee
Liguefluw merrT

is the basic function of management.

Ve

(©)

Planning B)
F bl Hge

Directing D)
JENTREAGY: 1

Vertical line of authority exists in

Qengggren aflans dlamyd

A

©)

Revenue received from the sale of product is known as
Qumrplasefler eflhuener apeaid HanL&@Gb au(mLOTELD

(A)

(©)

Line (B)
auflens

Functional (D)
Qawebuim

Profit )
@eomLib ﬂ
Average (D)
grefl

ereirug Guerarenuder g liLienL Lenfluimgtb.

Controlling
&_(HUuUbSHHe
Staffing
Lemt WD TSHHE

organisation.

Siawli9d sremriiuBEng.

Line and Staff
auflens wHmib serflwif
Informal

PEODENT

revenue.
GuU(H& TR
Total Revenue
Qorgs
Marginal
BmdElena
045/DD/24
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5.

6.

Every organisation should have a specific and defined

ea@eunm Se@wliyb GOlElL wHmb eieTURISSILLL

Couar{Hib.

ﬁ Objectives

Crrésniser
(C) Employees
Legot] wl et T & i

CPM is a technique it is used in
CPM GQgmflém b uweru(Bissuuieug)
\%\ Control technique
s HUUrL( Qgmiedmc b
(C) Committee system

G AUy

Management increases
Cuemekmen dwimed FlaElLg)

(A) Waste
sl

(C) Cost
eflenen

(B) Employers

vemflwel L LeurseT

Functions
OFuwdurhseT

Directing system
DuEESD DN
Communication
Faeued Glgmimy

Productivity
2 pusSSpen
Employment
Gaueneoeu ML

Which management is related with managerial control?
Blieurs &lGuur@rer Ggriiyeaiw Guaramen e1g)?

A) MBO

AR MBE

045/DD/24

(B) MBP
(D) MBS

Cl& &g (Hés



10.

11.

12.

One who Promotes (or) Exchange of goods or services for money is called as
uTLrigeT whpib  ueflamer uagfler Siglinen iy wrHODL dEOuUeT  ereIEITH

SjeppdsliubEmmr
(A) Seller
e HLeneTUmTeTIT
(C) Customer
GUITIG &HEHSWITEIT T

A

D)

Financial market facilitates business firms

flfssnens eumila Hineiars@nss
To rise funds

ﬁ B semer QLmEGuUSHES
(C) To make more sales
dpuenarenw fashss

Marketer
shangil{Riensulrar
Manager

Gueurerri

(B)

(D)

2 Se|&ng.

To recruit workers

verflwum sener Cairay bl

To minimize the fund requirement
Hds Caencuerwl Gennss

Which one of the following is not the main objective of Cost Accounting?
SpasarL oty Ceawe] samsdlwder (psfu GlsCamer e

(A) Control of cost
enaw sL_HLIum(

(C)  Fixation of selling price
eipuenes efleney BliramTiibd

(B)

Which of the following is controllable cost?
Qesreu(peuaeupier eTgl &L HLILRSSSFn1q L HFwe]

(A) Taxes

eufi&er
A

Direct Material
CrBrly. epeol@um(mar

(B)

D)

Reduction of cost
cllanay GHenmLIL
Recruitment
vemtiwirar™ Cgey

Rent
cUTL_60H&H

Insurance

S NTAT N

045/DD/24
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Ed

ﬁ

13.  Which Business risks occurs due to market condition?
spenguier Hoeursms Qurmiss gouBL auemils GLiLm@ ogi?

/ﬁ@) Speculative Risks (B) Pure Risks
parg @)L TLIT(H Bl @ fur(
(C) Insurable Risks (D) Uninsurable Risks
sTOSl () @uiur® gl Gediwapwr @ rur
14. —  — section of Income Tax Act 1961 deals the deduction to the Cooperative
Societies.
19611b eumLSSw eupwrer aufl sl sdler Qfley enl ey FrismiEaer
aymomer eufl sfla) upd GHUNREDE.
(A) Section 80C (B) Section 80CC
gl 119fe 80C g 1fbfley 80CC
(C) Section 80H JB‘ Section 80P
gl 119fey 80H L1 fley 80P

15.  Choose the Costing method used in mass production industry
=ifle sietey 2 Husd Gaubd Asmflosaia Lna@ssLLBD elmapean g ?

(A) Operating Costing JB" Operation Costing
Qusss Ceweay Qewum’ H Ceamea]

(C)  Multiple Costing (D) Process Costing
uerps beway Qawdpenn Gaeeay

16. Budgetary Controlis a
arel-Geweay FiLssl HLU® eramigl

\)AQ Continuous process (B) One time process
Qgm_rsflwren Hispey RHpeny Hapaey

(C) Six months process (D) One year process
%D W1E Hape SO L Hlspal

045/DD/24 6



17.

18.

19.

20.

Warehouses remove the hindrance of

L erg i @LiUT L B&eHng

(A) Person ,/(H) Time
<3}, &T SMeULD

(C) Risk (D) Knowledge
BUSSI 2ifiley

Employer contribution in Employees Provident Funds is

peflwmert eveutiy HlHuiledr verflwremenwuwifler ukiseflly

(A)  10% D 12%

(C) 14% (D) 20%

Control is directly related to

sLEuU@SsaLear Crrguwns Ggriiy Garerr ane

A Planning (B) Motivating

S8 Hge sar&& LU (N SGIHED

(C) Organising (D) Coordinating
SIELOLILTDDHED &(Haflen e S ed

communciation may take the forms of reports, circular, memos, note,

manual.

seeud Qgrrunergy ifléms, spodems, @Oluurames, @Ol
@sGu( g dweubhan QETar s @) (HSsaTLD.

(A) Oral ) Written
cumGlomgl T(PSSTEO 6D
(C) Signal (D) Grapevine
gLl &Gen g fyrleng Ggmi
7 045/DD/24
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)

21.  Capital market is a market for

AL FHang GTe UGl &(h EETE FHENG &,

(A) Short Term Finance (B) Sales
Gndwusre g el Lenesr
Long Term Finance (D) Purchase
Fewr_sre £ QamaTpged

22. When the Negotiable Instrument matured on public holiday, it is to be paid on
wTHnIpeD euandder (pdHiey mrar Gurg «HEep aafld, ueambd GCeassluBb

BTG TEg|
(A) Maturity day _(—Bf\ Preceding working day
ey prefléd premsw Geueney BT
(C) Next working day (D) After Two days
255 Ceuaner HaT @reirh BreT HiflSs,

23. The role of the lower level management is
sl flana Cuenamenioudier LimkieE.

(A) Executing (B) Formulating
QerudLBSHSD D _(HEUME (&S 6D

(C) Deriving ‘,(ﬂ) Supervision
&a (n1Glig S5 e s rentissd

24, ——— gafepuard the business from time loss.
el euentlssens CHY @UIAlimhs UNgETEHED.
) Planning (B) Administration

SO Hsed Blieunaib

(C) Management (D) Manager
Cememenio Gueomeriy

045/DD/24 8



25.

27.

28.

29.

A Cooperative Society Shall be declared fund not exceeding to —— % to
Common Good Fund from the net profit.

@M FmLHpe susbd g Har Qerusde %&@ Wsrod Cumg me
Hélé@ @emu Gflefleanar iflellsasanid.

A) 2% B) 3%

‘/q) 10% D) 14%

26.

The primary factors of production are
2 HUSHSETET (PSHEMEHLD HTIT6wTSemTeLe ?
(A) Labour and organization (B) Land and Capital
2 anipliL] Hmib sl fleod wHmb psed
(C) Labour and Capital ,@Dﬁ Land and Labour
p_anpliL| Whmh LpHed Hleolb Hmith 2 enpiiLy
The cost per unit of output is denoted by ~— cost.
P @ e pusdssner Gewa| erearLig Gegaimde,b.
./@Q Average (B) Marginal
gy @migl& snblene
(C) Variable (D) Total
LOTmID Qss
Which one of the following is an Indirect tax?
Qemeuepid 6Tgl Wweppps aufil
(A) Income tax ) GST
au(pnes eufl &7 woHnb Cranal cul
(C) Wealth tax (D) Perquisites tax
Gergg eufl Lg&eT Bamear eur
The compensation given for breach of contract 1s
@UUps Bpasars QerRssiu.. @pule eearug ?
ﬂ Damage (B) Remuneration
Ceamybd Gaugod
(C) Money (D) Cheque
LIGwTLD s1GsTane
9 045/DD/24
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&
30. Which one of the following is called as one side contract?
Gemeu(mid 678 (FLIGS RUILIBSD 6Tam Biemp&sLILGEDS ?

(A) Executory contract (B) Express contract
HeopGeuflu gliubsd RenpCeupprin.. Gaueimqul @UUBSD
y\ Unilateral contract (D) Bilateral contract
POHHEPO GUUBSD BBgow @UUBSLD
31. ———  can be given as a collateral security for getting financial assistance from
bank.
amdule Adusad Gup urgar iy Gamariuns eupkis UGS Dg.
(A) Dock warrant (B) Warehouse receipt
FD(PHE FTEHDH TN 6T LT &aTena @) rég
(C) Dock receipt JD)‘\Warehouse warrant
gleongs B LIGHTL & & TEHTIDT6H 68T

32. All cooperatives are established with
gl (Hpe| Fhshad Ule GFlieug) ?

(A) Philanthropic motive ‘JB‘ Service motive
Qarem@® GCrrésd Coeneu Cpr&sid

(C) Profit motive (D) Reform motive
@eTu CHI&SLD Eiflmss Crréshd

33. Company Secretary is appointed by
flyeuer Geuemereny BlubidiLg

A Board of Directors (B) Managing Director
Blireunss @& CemerTend @) W&
(C)y State Government (D) Central Government
wrble o7 WSS L B T&

045/DD/24 10



BEP (Break — Even Point) is used to take decision regarding — - for the
marketers.
soflenelieall U@LUUMLIGY FhangITenis@hs, MBS (LPlg e &EeneT el(hdha
2.5 8ngl
JA\ Price (B) Profit
eflenen @leorLib
(C) Purchase (D) Sales
QareTpg e el Liemen
Wholesaler deals with quantity of goods.
Q@ongs etwrumrfaer Sjereiled Qunpersener eumradl 6fhLeur.
(A)  Small G Large
S Gl
(C)y Medium itdér‘-“ V Limited
BO\SST sLHUuphsslol L

Middle level management is also known as
GenLflene Cuoeramrann eramLg!

‘/A) Executory Management (B) Top level Management
Blireurablensy Guoeraimantn Guéhlene GuaTemanto
(C) Lower level Management (D) Efficient Management
sevi_flena Geraenio Fmerr GoeTeimanto

An employee gets pension even relieved from the duty from the Employees provident
fund at the completion of age is

@ uvaflunert gearg uamiel g aliGelssiul L Gpeg abs auwdd uamiwurert
uERsTe enauliy BFulledimhgl guiapdluid Qupeun

A 00 (B) 58

50 auwigy 58 auwigy
(C) 60 (D) 61
60 cuwig) 61 auuig
11 045/DD/24
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38. The cost that remains constant at all levels of output is ——— cost.
» Hugdulern erevbeor UL ksaligid wiprg dewe|se
A) Fixed (B) Variable
wrprE Hewey wrmb CFaay
(C) Real D) Social
2 arenng Glaeey Fep& GF6Y

39. The additional cost incurred for producing one more unit of output is called as
@ <G wfswrs 2 pusd Qeiw @b Cwrss Qe gHuBb &mbsd e

Sepp&sElLpE g
(A) Average cost VGB‘S\ Marginal cost
sqrefl dgawey Andflenos Grwe,
(C) Fixed cost (D) Implicit cost
orpr &Fwe] 2 Grer_&& Geaey
40. Income tax is levied under the article ———— of the Indian constitution.
sumLomar eufl @b siréluich #lLib eQflulfer &ip elSEa01UHE DS
(A)  Article 242 (B) Article 244
efigl 242 g 244
ﬂ Article 246 (D) Article 247
efldl 246 g 247

41.  Which one of the following is a commodity based warehouse?
Memeu(pd ergl QUITHET EMTHS LT SFTED

(A) Cooperative warehouse (B) Government warehouse
Sl L6 LIGITL SFTEne) ST& LIGRTL_SHFTEned

(C) Private warehouse wM) General warehouse
seflwrt LT sFTene Curg LT &FTen6

045/DD/24 12
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42. The shares which are offered to the existing shareholders at free of cost is known as
(PHeSIL LUhGST&@sse aalels sl Lamepb Geaoamnd Ceualuii@ib Lki@sd

./m Bonus share

DG, LI (GEET
(C) Right share
o Meno LRIEGSET

(B) Equity share
FMHTERT LGS ET

(D) Preference share
(pergfenio LkigseT

43. Negotiable instrument is freely transferable by delivery if it is a / an

instrument.

&G LOTE @& OTHHGEETETERD LTHNIIPED ,eU6mTLD

(A) Order
<DL ENEIT <2, GUERT LD
(C) Bills of exchange
wrHn Grfe

'/(»Q) Bearer

& mensT TG <@ i6mTLD

(D) All of these
@6 earsHg) D

44.  Stock Exchange market is also called as

uni@ uflauiggeanear shens

(A) Spot market
&6T Fheng

(C) Local market
2GR Fhang

45. Human Resource is a / an

e FEIeTID ETELIZ (T
'/(AQ Tangible
SETE| & (& LIS
(C) Fixed
Benewimer

ererayh Benp&sLiLEng.
(B) National market
Csélw gheng
) Security market

UTG&TLL| Fhens

asset.
Qengg.
(B) Intangible
SETEI& (& LQOTTSHTS
(D) Current
BLU1Ly

13 045/DD/24
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46.  Which is the first step in the process of MBO?
GHullesE CuaTaren GFupepeanuler paed Ligbiame erg)?

(A) Fixing key result area
psElw pyel uedaow wigey beleag

(B) Appraisal of activities
pielgsasaamer LHUTH Claieug

(C) Matching resources with activities
&MECETETSHERLa cuaThisamer CUM(Ksg g

/.{D) Defining organizational objectives
el 1Ger GHECHTETHMmET euenFwmILILIg)

47. A conversion of the subject matter into these symbol is the process of
saeuisallar o drer Qeuiflsemer GMuiGsaTTs WIHMD D

(A) Decoding JB‘ Encoding
GONILR Basd GHULH

(C) Message (D) All of these
AETE Eme HHDETSSID

48. Delegation is the act of assigning authority and
ey udlie| ereanug SHsTyd WHMID

J)ﬂ\ Responsibility (B) Centralization
GClummitiy @LWLIUHSHISE
(C) Span of control (D) Committee
sU_(Huumiiger eide GW

49, The Work is divided into number of small activities known as
verflenw L@Gauy Sy Lugdserns ORLLE ereTLg)

(A) Assignment of work (B) Grouping of activities
uel @pas&EE BL UG &EEEET &P ILHSTISD
‘}@)\ Division of Work (D) Delegation of authority
el UBED SHETy @riLenL LI

045/DD/24 14



50.

planning is detecting overall objectives of the organization.

A
{9

T [ TN Fimieuengsl e ST HG Crnasmseeuid

SeiTL_ Dl Wign g LISTEGLD.
Strategic Planning (B) Intermediate Planning
Cundlpen smrips S ib GenL_flaney SlLib
Operational Planning (D) Al of these
Qewerum’ {H S b Denel amerdgd

51. The first step in decision making process is
(piyGauBgselld (pse LiguITaTg)

AN

B)
(®

)

52.

Identification and diagnosing the real problem

2 gmenLnwiment yFFamaTanil SepLIITeTLD &Tewred WHmD Ser g
Evaluation of alternatives

rHy FLeugsesew b &

Developing alternatives

LIHD bL G S&HEL 2 (HeUNTEGHSE

Selection of alternatives

wrpm euPulenear CaiblsHdbse

refers to a Cooperative relationship between the leader and one or more

person to accomplish a particular job.
sepaeuT LHMID ey Soeg sHE Gupull puisefldar o pelilar epawrs 6
uenllufenas (pig LU1Lig

ﬂ)

(C)

Supervision (B) Authority
Gupurieney & TTiD
Controlling (D) Teamwork
S HUUB SO &(pLiLianfl
15 045/DD/24
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53.

H4.

95.

56.

/Q)

The enterprise which divides the department on the basis of functions like
Production, Purchasing, Sales, Financing, Personnel is known as

@@ Boiod <ga ualsarmer 2 pusd, Garerpse, eipumar, HE,

pdweupdlesr oiqtiueLuled ANGug
(A Centralization
SSl&TT enwilb

Function Department
ClFweTsEs gienm

Primary Market is also called as
WPpsLEMeE sHeng
(A) Secondary Market

@ rearsr_rb Hleverd Fhans

New issue Market
ydw Ceuafluihsenssnear shans

(B)

D)

(B)

D)

A major player in the money market is the

Liarésbensuded (psH BihisD eudlliug

\/ﬂ\)

Commercial Bank
cuena eumd)

(C) SBI

umyg ewGLL eurudl

The final aim of modern marketing is

pelar spengufier @md GHECaTaTTEng)
(A) Maximum profit

SHlauls @b

Consumer satisfaction
w&TGeumflen werblepmay

045/DD/24

(B)

D)

B)

D)

Liesotl W merr T

Decentralization
DFSTTLILITED
Personal Department
LesflwmeT genm

crarayld HHemP&5&ILHE DS

Money Market
LiewTd Fheng
Indirect Market
L& FHENG

RBI

ferey eumidl
Central Bank
wESW euidl

Minimum profit
G@DBSLILF @eaTuld
Service to the society
sepasEparer Gaeneu



H7.

58.

59.

AN

60.

Which one of the following is not classified into managerial functions?

Uesraum erg Goemameno Ueanll ice
(A) Planning

Fl Bl e
(C) Controlling

&L(Huu(Es s

Organising
SenOLIHTHDEL
Marketing
Fheng Ul Hige

Who is the first middleman in the channel of distribution?

auIpBised aulfludled o 6mem (PG @enL I wmr?

%) Wholesaler

Qwirgg eflwirum

(C) Retailer
fovevanm eSlwimumdl

Long term planning covers a period of
perLsre UL BESH arugl
5 to 15 years
5 wpsa 15 yearhiser
(C) Above 20 years
20 AT (HSEhE@GD i snmean

Producer

2 HuSSwimer
Customer

BU TG &N S UITEITIT

Above 15 years

15 gy e aErsiEh idlswmer
Below 5 years

5 AT SEREED GDaiTar

— measure the return generated from the funds invested in the business.
Swrurrsder sl Geug HSEHg aumL AUFTLSMS samsd (hHeug

(A) Budget
Sl DU g U6

JQ) ROI
PpEHILbg euLTaTD

Audit

semtlEens

Cost control
Gewey sl Griurh

045/DD/24
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A

61. Capital Market do not provide
LRGN FHENG QULDEBIGTSH 6T

‘A) Short term funds (B) Debenture funds
Gn&L sre B sLepnd usdlyriser
(C) Equity funds (D) Long term funds
s Hlevew Hlg Sar_ sme Hlg)

62. Which one of the following is not a function of insurance?
esreupid erg) sl ger ueanfl side

(A) Lending Funds (B) Risk sharing
sLams [ efliy @i udra)

(C) Capital formation _/(q) Protection of life
apegard Syl Osd QUMD&EENE LINGISTLIL

63. Trade middleman who acts as a link between wholesaler and customers refers to a
Qorgs efwrurfleowwyy meTGarisemearyd @eansgh Qeaamriys shddlunes

4 Qeweu@bd cusnile @en Blanew i <D} EUTIT.
(A) Producer (B) Broker
o HusHwTeTT ST
‘V Retailer (D) Customer
Heévevenm eNwirum U Tlg &G TUIGITTT

64. Auxillaries to trade is also called as
wrurysdine seeyfleig eerug Geieumm e p&siiubhang ?

(A) Trade (B) Advertisement
eSlwiruimyid eSlerburb

(C) Warehousing ‘/{D) Aids to trade
LeTLS&mLIL &L (Hwrerb

045/DD/24 18



65. A partnership is registered with
& Sl L ramennanil Ley Geueug ?

(A) Registrar of Companies (B) Registrar of Co-operatives
Blpiwol udlemari sl (Bpey ueumert
/(3) Registrar of Firms (D) Dastrict Collector
Fal LTementd Lideumert QFwuedpenn Ceway

66.  Assuming Social Responsibility of business helps the enterprise in
Qemfledler sopas GUrmLy ereucurm Hipeuansding o saydlng 2

(A) Increase profit (B) Decrease profit
Perugas idsfss POTUSMS GHDDES
(C)  Sustainability (D) Equilibrium

N\ Hlenavggenanto Foflena

67. Equty shareholders are the ——— of a company.
Cpirenld LRIGSTTISET e Hlmieuegd e <SG TT&ET.
(A) Creditors ) Owners
sLathGgmi EEEET
(C) Debtors (D) Employees
SL_aTTerl&er e LTS ET

68. Total revenue is equal to total output sold multiplied by
Qrgs euprerd ererug eflhuener Geiwiiul L Qunplsaier ergeniLear Gu(mEs
Hen g ?

\/(A) Price (B) Total cost
eflenen Qrgs Gewey
(C) Marginal revenue (D) Marginal cost
Emid& snBlena eu(HLOTETD Gnd& subleae ey
19 045/DD/24
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69. The relationship between the price of a commodity and the supply of commodity 1s
Qumrpefian eflenevdEin Deflitnlh@b o drer Ggm iy

(A) Negative ﬁ) Positive
erd ren Gpioemp
(C) Zero (D) Increase
L shediiLh fafagn
70. The Assessment year normally consisting of a period of ———— months.
gsemsEL B e erarug Gumgeuns DTS MISENET )& TehTL TS0,
(A) One month (B) Six months
@(h LIsD ELPEITM| LOITE BISET
(C) Nine months /@) Twelve months
QRETUS| DTHMISET LetTesf Gl eior(B) LD il

71. The excess of assets over liabilities is
QurmiLseneT ST lggild WGHws o_eter Hensg&ee

(A) Loss (B) Cash
BLL D Qur&sid
‘/Vi) Capital (D) Profit
(DB @eorLib
72. Money cost is also known as ——————— cost.
LesTEol Favey QFwe| eremmib anp&slILGE D).
/(A) Explicit (B) Implicit
Cleuefluym 2 6T (6T M)
(C) Social (D) Real
FoLpG o _GRTen D

73. Another name of price is
afleneuesr LHGmmm Gluwr

(A) Average Revenue ‘/@) Marginal Revenue
FynEd eumHeum @i blepe eumem

(C) Total Revenue (D) Average cost
QLTSS @ImeuT grrafl Geaey

045/DD/24 20



74.

75.

76.

719,

Which of the following function of management deals only with people?
\Yesteu(hd eThg Cloemenmentd LanflwTarg W& EhL 6 i GIb sy wg

(A) Planning (B)
S Bs

(C) Directing ,/(‘IP)
JOIEIEY: T

Planning 1s the first function and

Controlling
sL_(Uu(hSgised
Staffing

Lemt W DT E&I S

1s the last function of management.

S BlHae  ererug  wse venfl  wHmb
endflea uelumgb.

(A) Directing (B)
BusE@ge

(C) Staffing )
=, TCE B 5D A

External Audit done by
Geasalluiyp senlisamaamu Copblardaraug

(A) Cost Accountant \AB)
Gleeve] serra&amer

(C) Company Secretary o))
Hlmeuar Glgweomert

Wages not consist of
Fmellller Carnggl

(A) Dearness Allowance (B)
SiEelene Lilg
(C) Travelling Allowance )
Uuleor U Lq_
21

ereirig)  Gueremenoullen

Organizing
B LOSHE
Controlling
al_Quuhsgse

Charted Accountant
UL LU SERTHSETETIT

Managing Director
Guerarenlo @wi&@E BT

House Rent Allowance
SSL(p) eurLana Lig

Gratuity
uenfl &L &Tent_

045/DD/24
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78. Registration of Partnership is
Sl Lnamennant Lfle) Glauicug

(A) Compulsory /fB) Optional
&L_LmuLh S8l(mLILID

(C) Not necessary (D) Statuary
Sjeuflwib @evenew FLULLULTeUDTang)

79. It may be wise to finance fixed assets through

Hlane&blengssener eunmig m LweTuRsgieug Sphs Careuns @) w&E@ELD.
(A) Creditors \/‘B) Long term debts

&Ll G BerL_ smed sLenaer
(C) Bank overdraft (D) Bills discounting

&L ar Gdeuenyl LbHm D_GHTIq UIED HETEHLIlg

80.  Which one of the following helps in maximizing sale of goods to society?
Memreu(pld o7 FepEsHn@ iHe srs@aamen elhs geamenr Geldlpng ?

(A) Business success (B) Law and Regulations
cuemtlasdlen Geupm! allflaseT LHNIL RPBRGUPODSET
/{J) Ethics (D) Professional Management
RPEHPEND Qgmpleapens Cemesrenn

81. Co-operative warehouses provides warehousing facility to
ol (pey H_rigaser Slmi@ Comauani euLpmHk &6g)

(A) Government (B) Private
A THES, SN T(HHE,
‘)G,\ Members (D) Empolyees
2 LIS eTTE EhEE enfluImer s e & &
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82.

83.

18 helps to supply the goods at more or less prices throught the year.

@ UL (PWeugih sHCons Gampw eflarouiled Frs@amen auphi@auded

gleven CFldlmg).

(A4)

©)
N\

Production (B) Transport

2 Hugd CursGaurss
Warehouse (D) Management
FlLrhis Gueorratreno

The function of warehousing Development and Regulating Authority WRDA
LTl && sriLshseT lalmss phi@Gupenn < amanrgsen Liemtwumerng

(A)

(B)

(€

A

84.

Improving the storage capacity

CadliaL) Spener oHafiviug

Helping producers, farmers and consumers

2 Husdwnreriser, efleusmuiser wHMD KSTCauTTaEhhE 2 sa|6ug
Removing intermediaries

e _gsraismer Ba@ag

All of these

Eeneu eneusa;d

Which one of the following is a wrong statement regarding with Insurance
Regulatory Authority of India IRDAI)?

Spargnib gl @pHu sTUSH ewenidd wHob EUEBIEGU®D Speemub GgTLiLTer
Sauprer sbhml

A)

(B)

(©)

A

It was constituted in the year of 2000

8a 2000 =1b paTgd gHURSSILL LG

It is a Statutory and Independent body

@& e FULLTeu ODID Serailéamawnear el

It 1s the Apex body

@& smemn el

It was established by IRDAI Act, 2000

@a @bdw sTHSLH euatiEs) LHMID @UpEIGUMmD enamub L b 2000-61 Lig
THUOSBIL L)
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85.  The basic principle of insurance is
sl ger SiglineL Camumd)

) Insurable Interest (B) Co-operation
sTUAE Qewius sngw eul g &l (Hmey
(C)  Subrogation (D} Proximate causa
L&y 2 fleny SHETENLDE & TITeTLD
86. The two major types of business environment are ————————— and
el psdw eunenflig G LposeT DHEHILD

(A) Positive and Negative
Gpirenyn HMID erdliToen
(B) Internal and External
A o pb wihmb Geuefitiymib
(C) Good and Bad
Bedavg WwHmIth W& L g
(D) Allowable and unallowable
g0 F665555 DO SHEILEEHP RIS

87. Macro environment of business 1s an ———— factor.
cuanfiagsHer LThs @O @ smyestlwumELb.
\/QA) Uncontrollable (B) Controllable
&L HUUBSSPIGUITSS) & HULSSS g WG
(C) Manageable (D) Unmanageable
FOTelES SnigUig) ForelléEs (piguInss)

88.  Specific goods denote goods identified upon the time of

LB,

of sale.

GOUAL L #7865 ereugy ellbuenearuie arhs drwssl Ll o dren srsdanan @Madlng

(A) Agreement wJB) Contract
2 L arun®h Gumgb Gung gliupgdler Gung
(C) Order (D) Obligation
gananrent) GumbGLimg) efpe sLenwliul L Gurg
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89.  Which of the below constitutes the essential element of contract of sale?
875 elhumen @UUBSSHNEG oTg (PESL 2 pILTe 2 arerg) ?

(A) Two parties (B) Transfer of property
B grinderd QarggMenio wmHDLD

(C) Price ) All of the above
allenav ‘/‘P @erey BmaTEFID

90. When fixed capital method is adopted by a partnership firm, which of the following
items will appear in capital account?
sal Lramenn Fpeuasde. Haoaupsd wpen Gauppru@n Gurg Cereumeismapble
TH (PpEseRTESlD ST L ILEID?

(A) Additional capital introduced (B) Interest on capital
& H&0 (pse AamanpHelbss WP Bgrer ully
‘/\(C) Interest on drawings (D) Share of profit
FHuyseT Bgresr aully Beru ey

91.  Which of the following is shown in profit and loss appropriation account?
Qereumeuamaumiied ergy @eamu pr LT samsdled Sl L Lufb?

) Office expenses (B) Salary of staff
Sigieuas GlFaay uewflumert oardluwib
(C) Partner’s salary (D) Interest on bank loan
FnlLreflulier pardluihb aundlsaLar Bgrer el iy

92. Balance sheet provides information about the financial position of a business
concern

gouufeos  @iliy 6 eafs fgaasia  Hbes  updlu

SEQIDEEET ULPBIGH DS -

(A) Over a period of time w@) As on a particular date
@@ sl LeSnE Guoorer SO L Bmem e
(C) For a period of time (D) For the accounting period
@GOG sTevgdharen GG L semssTay Hemer
25 045/DD/24
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93. The term ‘fund refers’
BlE) ererranib Glemed @Ml dufieug

(A)

©

Current hability ‘/@ Working capital
BLUL Gummlsser [BENL_(LPERID PGS ESTLD
Fixed assets (D) Non-current asset
Blanevg ClFnggisaer FerLgrews QFTsgisae

94. Which one of the following is incorrect?
“etreu(HeuareuDMIET 6TEl H6UDTEng)

(A)

(B)

©

\/{))

MIS -- Management Information System
MIS - Gueremen o SHaud Henoliy

MIS includes manufacturing information system

MIS o.pugdl sseuane o areT &g

MIS includes marketing information system

MIS gpensuil(fsd saaiame o drar  &6lug

MIS provides information to taking decision only at particular stage of
management

MIS Guaramewuier em AU Hleaules wiGCL ureimer or(Hi&s
SEEUME GULPMHIGS D)

95. A warehouse holds goods as a ———— centre.
LI6RTL_& ST ELOWILDTE FTEEGHEHENET HEUSSICTETF.
(A) Marketing (B) Sorting
FHang LU [HSSISO cuflensiL(HSEHISD
\/@ Distribution (D) Selling
ABGwmsd Gaiige aflpuener CFge

96.  According to principles of insurance ‘Double Insurance’ is

&S g et Garlum gerug ‘@rlel &rilSE’ aeatugl

A4)

A

045/DD/24

Indemnity (B) Causa Proxima

r_(Hmid) DFTEDLDE HTENTLD

Contribution (D) Mitigation

L&l ThgenNsse @wleu LLRHULHGSSED
26



97. The Insurance company pays compensation only up to an extent of the value lost is
sl @ Fpeuerd plLsdhE sEpsaurn Quiltiel rHsleag aeaug)

(A) Speculative Risk (B) Uninsurable Risk

oarg @)L i &TUE Qedwapgur @i
(C) Pure Risk ua}‘ Insurable Risk

BUL @i smSC@ @u

98. A company is giving advertisement in covert way 1is called as
@ Bimeuerd weappswrs efleTburiu@sgeuans Geueurm sepsEsiiubhSng

(A) Niche Marketing (B) Gurrilla Marketing
&gl shansudl e Qarflédven gbansuil@ s
‘/Q) Ambush Marketing (D) Viral Marketing
3jbLeiy Fhangudl Hised el Fhensull(Hise

99. Effective use of social media marketing increase conversion rates of
geps  oar g ghapsliLpssigeen Fpuums GeuduBsges Iyl
hflggens flsMéEb.

./N\) Customer to buyers

aumig Senswreriled (mhg eummsiELel s

(B) Retailer to customers
Hoewenp Swumumrflufedmbg: cumgsenswrenyrs

(C) One buyer to another buyer
aurmigLeufiedl(pbE WHEDTH aumkiEGLeITTSE

(D) Direct contact of marketer
Fhangwimer(m&EE GHIg. Ggm iy
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100, ——— is the result of new industrial policy which abolished the ‘License
System’,

ererug Ugw Gsmfpgiap Qardransuler eflavereur@gd, Ggamme ‘e Mo

e’ @TdHE GenwliiLg).

(A) Globalisation (B) Privatisation
D_EDGELOIILD TEHSED S LIMTLOWILD T SHED
ﬁ) Liberalisation (D) Public enterprise
STTETDILIDTSEHED Gurgisgienn fmeuand
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